Steps to Predict the Products of a Chemical Equation (Ion exchange).
1.) Assign the oxidation numbers (charges) to all of the elements that are in the reactants.

                                            +3       -1                  +2         -2

Example:      AlCl3  +        MgO (    

2.) Do an “ion exchange” by switching the positives with the positives or the negatives with the negatives.  Re – write the oxidations above the products.

                             +3      -1                  +2       -2                  +3    -2         +2        -1

Example:    AlCl3    +      MgO   (     AlO  +   MgCl

3.) “Cross” the oxidation numbers and change them into subscripts.

                     +3       -1         +2        -2            +3      -2             +2         -1

Example: AlCl3   +  MgO (   Al2O3     +  MgCl2

4.) Balance the equation by changing the Coefficients not the Subscripts (if you are having trouble with the balancing double check step 3).

Example:   2AlCl3 + 3MgO   ( Al2O3    +     3MgCl2

5.) When you are predicting the products of an equation with polyatomic ions you need to use the “charges” (called oxidation numbers) that are given to them.  These are not on the periodic table.

Example:

Mg (NO3)2  +    H2 ( ???

Mg(NO3)2 +    H2 (  2 H(NO3)    +    Mg

